6= SetDirectory[" /ww/user /f dahl /papers/Conjugation/"1];
<< kappaLi b. m
<< Petrov. m

KappaLib v1.1

Petrov routine | oaded

m Class XI: (4 11)

000100
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e B |000001
100000/[
010000
001000
laslk 1 0 0 0 O
0O lambt 1 0 0 0
. ve| O 0 tam 100 |
o o0 0 lam. 0o 0 [
0 0 0 0 lam O
0o 0 0 0 0 lanmB

in21:= Ei genval ues [V]

ouz1= {lamt, lam, |lam, |aml, |anR2, |anB}

0 0 0 epsl O 0
0 0 epsl O 0 0
0O epsl1 O 0 0 0
- W= :
ni22] epst 0 0 o0 o0 o0 |
0 0 0 0 eps2 O
0 0 0 0 0 eps3

in23;:= Ei genval ues [W

out23)= {-epsl, -epsl, epsl, epsl, eps2, eps3}

m eps2 and eps3 have same block size, so we may assume that eps2 <= eps3:

{epsl » -1, eps2 > -1, eps3 » -1}]
{epsl » -1, eps2 » -1, eps3 » 1}]
{epsl » -1, eps2 1, eps3 » 1}]
{epsl > 1, eps2 » -1, eps3 » -1}]
{epsl > 1, eps2 » -1, eps3 » 1}]
{epsl » 1, eps2 » 1, eps3 » 1}]

in[24]:= Sort [Ei genval ues [W
Sort [Ei genval ues [W
Sort [Ei genval ues[W
Sort [Ei genval ues [W
Sort [Ei genval ues [W
Sort [Ei genval ues[W

NSNS NSNS

oupzae (-1, -1, -1, -1, 1, 1}
oufzs= {-1, -1, -1, 1, 1, 1}
oupzel= {-1, -1, 1, 1, 1, 1}

oupre (-1, -1, -1, -1, 1, 1}
oufes= {-1, -1, -1, 1, 1, 1}

oueo= {-1, -1, 1, 1, 1, 1}
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We may assume that eps2 =-1, eps3=+1

n@Eoj= W= W/. {eps2 » -1, eps3 » 1};
Ei genval ues [W

ouzr= {-1, 1, -epsl, -epsl, epsl, epsl}

0 0 01 0 0

0 0 10 0 0

0 o0 —4— 1_
_S- V242 |
nE= 2= 1eps1 0 00 0 0 |

0O epsl 0O 0 0

0 0 00 -2+ 1_

NN

m Check that Sis in set mathcal(S)

in[33):= Transpose[S].B. S =W

ou[33]= True

= Compute result

in[341= res = S. V.l nverse[S];
res // MatrixForm

Out[35]//MatrixForm=

laml O 0 0 0 0
1 lanm 0 0 0 0
| an2 | anB | an | anB
0 0 >t 0 0 -t
0 0 0 laml 1 0
0 epsl 0 0 lam 0
| ang | anB | ang | anB
0 0 -t 0 0 >t
In[36]:= Petrov[res]
Out[36]//MatrixForm=
0 0 0 0 0 lam
0 0 0 0 laml 1
0 0 2 (-lan2+lan8) m 0 0
0 0 Lang. a8 L(-lan2+lan8) 0 0
0 lam 0 0 epsl O
| aml 1 0 0 0 0

= Export notebook as .pdf

in37:= Not ebookPri nt [Sel ect edNot ebook [],
" /www/user /f dahl /paper s/Conj ugat i on/not ebooks/C assXl . pdf "



